

#### **Tabulation Of Bids**

Event #: 132
Version: 1

Name: Parking Lot Clean Up Services

Description: The City of Fort Lauderdale, Florida (City) is seeking bids from qualified bidders, hereinafter referred to as the

Contractor, to provide parking lot clean-up services including power sweeping and vacuuming services for parking areas, lots and garages at various locations within the City of Fort Lauderdale limits, in accordance

with the terms, conditions, and specifications contained in this Invitation to Bid (ITB).

**Event Currency: USD** 

Supplier	Bid Amount	
SFM Janitorial Services, LLC.	315,718.00	
7500 NW 74 Avenue Medley, FL 33166		
USA Services of Florida, LLC	0.00	
4141 Rockside Rd #100 Seven Hills, OH 44131		
* * Supplier has responses with a no bid		
Brightstar Property Maintenance Services, Inc	413,990.00	
3726 NW 15th Street Lauderhill, FL 33311		

#### **Items**

**Item: CLEANING SERVICE - 8001** 

**Description:** Price for each service day for Parking Services Building 49

Unit of EA Quantity: 156.0000

Measure:

	Quantity	Unit Price	Extended Amount
SFM Janitorial Services, LLC.	156.0000	23.00000000	3,588.00
USA Services of Florida, LLC (No bid)	0.0000	0.00000000	0.00
Brightstar Property Maintenance Services, Inc	156.0000	45.00000000	7,020.00

#### **Item: CLEANING SERVICE - 8012**

Description: Price for each service day for Parking Meter Space 1 - 100 S

Unit of EA Quantity: 1,300.0000

Measure:

	Quantity	Unit Price	Extended Amount
SFM Janitorial Services, LLC.	1,300.0000	23.00000000	29,900.00
USA Services of Florida, LLC (No bid)	0.0000	0.00000000	0.00
Brightstar Property Maintenance Services, Inc	1,300.0000	35.00000000	45,500.00

#### Item: CLEANING SERVICE - 8012

**Description:** Price for each service day for Parking Meter Space 101 - 200

Unit of EA Quantity: 208.0000

Measure:

	Quantity	Unit Price	Extended Amount
SFM Janitorial Services, LLC.	208.0000	23.00000000	4,784.00
USA Services of Florida, LLC (No bid)	0.0000	0.00000000	0.00
Brightstar Property Maintenance Services, Inc	208.0000	40.00000000	8,320.00

## **Item: CLEANING SERVICE - 8012**

**Description:** Price for each service day for Parking Meter Space 301 - 400

Unit of EA Measure:

**Quantity: 156.0000** 

	Quantity	Unit Price	Extended Amount
SFM Janitorial Services, LLC.	156.0000	69.00000000	10,764.00
USA Services of Florida, LLC (No bid)	0.0000	0.00000000	0.00
Brightstar Property Maintenance Services, Inc	156.0000	50.0000000	7,800.00

### **Item: CLEANING SERVICE - 8012**

**Description:** Price for each service day for Parking Meter Spaces 201-300

Unit of EA Quantity: 208.0000

Measure:

	Quantity	Unit Price	Extended Amount
SFM Janitorial Services, LLC.	208.0000	46.00000000	9,568.00
USA Services of Florida, LLC (No bid)	0.0000	0.00000000	0.00
Brightstar Property Maintenance Services, Inc	208.0000	45.00000000	9,360.00

## **Item: CLEANING SERVICE - 8013**

Description: Price for each service day for N & S Beach On-Street 215 Spa

Unit of EA Quantity: 260.0000

Measure:

	Quantity	Unit Price	Extended Amount
SFM Janitorial Services, LLC.	260.0000	46.0000000	11,960.00
USA Services of Florida, LLC (No bid)	0.0000	0.00000000	0.00
Brightstar Property Maintenance Services. Inc	260.0000	65.0000000	16,900.00

### **Item: CLEANING SERVICE - 8014**

**Description:** Price for each service day for Parking Lot Space 1 - 50 Spac

Unit of EA Quantity: 1,404.0000

#### Measure:

	Quantity	Unit Price	Extended Amount
SFM Janitorial Services, LLC.	1,404.0000	23.00000000	32,292.00
USA Services of Florida, LLC (No bid)	0.0000	0.00000000	0.00
Brightstar Property Maintenance Services, Inc	1,404.0000	30.0000000	42,120.00

## **Item: CLEANING SERVICE - 8014**

Description: Price for each service day for Parking Lot Space 101 - 200 S

Unit of EA Quantity: 364.0000

Measure:

	Quantity	Unit Price	Extended Amount
SFM Janitorial Services, LLC.	364.0000	46.0000000	16,744.00
USA Services of Florida, LLC (No bid)	0.0000	0.0000000	0.00
Brightstar Property Maintenance Services, Inc	208.0000	40.0000000	8,320.00

### **Item: CLEANING SERVICE - 8014**

**Description:** Price for each service day for Parking Lot Space 400 - 500 S

Unit of EA Quantity: 486.0000

Measure:

	Quantity	Unit Price	Extended Amount
SFM Janitorial Services, LLC.	486.0000	92.00000000	44,712.00
USA Services of Florida, LLC (No bid)	0.0000	0.00000000	0.00
Brightstar Property Maintenance Services, Inc	486.0000	75.00000000	36,450.00

# **Item: CLEANING SERVICE - 8014**

**Description:** Price for each service day for Parking Lot Space 51 - 100 Sp

Unit of EA Quantity: 936.0000

Measure:

June 23, 2023 Page 4

	Quantity	Unit Price	Extended Amount
SFM Janitorial Services, LLC.	936.0000	23.00000000	21,528.00
USA Services of Florida, LLC (No bid)	0.0000	0.00000000	0.00
Brightstar Property Maintenance Services, Inc	936.0000	40.0000000	37,440.00

## **Item: CLEANING SERVICE - 8015**

**Description:** Price for each service day for Riverwalk Ctr Grge 1st Fl 189

Unit of EA Quantity: 364.0000

Measure:

	Quantity	Unit Price	Extended Amount
SFM Janitorial Services, LLC.	364.0000	69.0000000	25,116.00
USA Services of Florida, LLC (No bid)	0.0000	0.00000000	0.00
Brightstar Property Maintenance Services, Inc	364.0000	90.0000000	32,760.00

### **Item: CLEANING SERVICE - 8017**

**Description:** Price for each service day for City Hall Garage 1st Fl 380 S

Unit of EA Quantity: 104.0000

Measure:

	Quantity	Unit Price	Extended Amount
SFM Janitorial Services, LLC.	104.0000	69.0000000	7,176.00
USA Services of Florida, LLC (No bid)	0.0000	0.00000000	0.00
Brightstar Property Maintenance Services, Inc	104.0000	130.0000000	13,520.00

### **Item: CLEANING SERVICE - 8018**

**Description:** Price for each service day for Las Olas Garage First Fl 107

Unit of EA Quantity: 364.0000

	Quantity	Unit Price	Extended Amount
SFM Janitorial Services, LLC.	364.0000	23.00000000	8,372.00
USA Services of Florida, LLC (No bid)	0.0000	0.0000000	0.00
Brightstar Property Maintenance Services, Inc	364.0000	80.00000000	29,120.00

#### **Item: CLEANING SERVICE - 8070**

**Description:** Price for each service day for Arts&Science Grge 1st Fl 257

Unit of EA Quantity: 364.0000

Measure:

	Quantity	Unit Price	Extended Amount
SFM Janitorial Services, LLC.	364.0000	46.00000000	16,744.00
USA Services of Florida, LLC (No bid)	0.0000	0.00000000	0.00
Brightstar Property Maintenance Services, Inc	364.0000	95.00000000	34,580.00

## **Item: CLEANINGSVC ADDITIONAL DAYS8012**

**Description:** Price for each svc day for Additional Day of Svc-Meters

Unit of EA Quantity: 30.0000

Measure:

	Quantity	Unit Price	Extended Amount
SFM Janitorial Services, LLC.	30.0000	23.00000000	690.00
USA Services of Florida, LLC (No bid)	0.0000	0.0000000	0.00
Brightstar Property Maintenance Services, Inc	30.0000	55.00000000	1,650.00

## **Item: CLEANINGSVC ADDITIONAL DAYS8014**

**Description:** Price for each svc day for Additional Day of Svc - Lots

Unit of EA Quantity: 30.0000

Measure:

June 23, 2023

	Quantity	Unit Price	Extended Amount
SFM Janitorial Services, LLC.	30.0000	46.00000000	1,380.00
USA Services of Florida, LLC (No bid)	0.0000	0.00000000	0.00
Brightstar Property Maintenance Services, Inc	30.0000	75.00000000	2,250.00

### **Item: POWER SWEEP/VAC ADDITIONAL-8012**

Description: Price for each svc day for Additional Day of Svc-Meters

Unit of EA Quantity: 15.0000

Measure:

	Quantity	Unit Price	Extended Amount
SFM Janitorial Services, LLC.	15.0000	50.00000000	750.00
USA Services of Florida, LLC (No bid)	0.0000	0.00000000	0.00
Brightstar Property Maintenance Services, Inc	15.0000	65.00000000	975.00

## Item: POWER SWEEP/VAC ADDITIONAL-8014

Description: Price for each svc day for Additional Day of Svc - Lots

Unit of EA Quantity: 15.0000

Measure:

	Quantity	Unit Price	Extended Amount
SFM Janitorial Services, LLC.	15.0000	50.00000000	750.00
USA Services of Florida, LLC (No bid)	0.0000	0.00000000	0.00
Brightstar Property Maintenance Services, Inc	15.0000	75.00000000	1,125.00

## Item: POWER SWEEP/VACUUM SVC-8001

**Description:** Price for each service day for Parking Services Bld 49 Space

Unit of EA Quantity: 52.0000

Measure:

June 23, 2023 Page 7

	Quantity	Unit Price	Extended Amount
SFM Janitorial Services, LLC.	52.0000	50.0000000	2,600.00
USA Services of Florida, LLC (No bid)	0.0000	0.00000000	0.00
Brightstar Property Maintenance Services, Inc	52.0000	35.00000000	1,820.00

### **Item: POWER SWEEP/VACUUM SVC-8012**

Description: Price for each service day for Parking Meter Space 1-100 Spa

Unit of EA Quantity: 312.0000

Measure:

	Quantity	Unit Price	Extended Amount
SFM Janitorial Services, LLC.	312.0000	50.00000000	15,600.00
USA Services of Florida, LLC (No bid)	0.0000	0.00000000	0.00
Brightstar Property Maintenance Services, Inc	312.0000	50.00000000	15,600.00

## **Item: POWER SWEEP/VACUUM SVC-8012**

**Description:** Price for each service day for Parking Meter Space 101-200 S

Unit of EA Quantity: 104.0000

Measure:

	Quantity	Unit Price	Extended Amount
SFM Janitorial Services, LLC.	104.0000	50.00000000	5,200.00
USA Services of Florida, LLC (No bid)	0.0000	0.00000000	0.00
Brightstar Property Maintenance Services, Inc	104.0000	35.00000000	3,640.00

## **Item: POWER SWEEP/VACUUM SVC-8012**

**Description:** Price for each service day for Parking Meter Space 301-400 S

Unit of EA Quantity: 52.0000

	Quantity	Unit Price	Extended Amount
SFM Janitorial Services, LLC.	52.0000	75.00000000	3,900.00
USA Services of Florida, LLC (No bid)	0.0000	0.00000000	0.00
Brightstar Property Maintenance Services, Inc	52.0000	65.0000000	3,380.00

### **Item: POWER SWEEP/VACUUM SVC-8012**

**Description:** Price for each service day for Parking Meter Spaces 201-300

Unit of EA Quantity: 104.0000

Measure:

	Quantity	Unit Price	Extended Amount
SFM Janitorial Services, LLC.	104.0000	50.00000000	5,200.00
USA Services of Florida, LLC (No bid)	0.0000	0.00000000	0.00
Brightstar Property Maintenance Services, Inc	104.0000	65.00000000	6,760.00

## Item: POWER SWEEP/VACUUM SVC-8013

Description: Price for each service day for N & S Beach On-Street 215 Spa

Unit of EA Quantity: 52.0000

Measure:

	Quantity	Unit Price	Extended Amount
SFM Janitorial Services, LLC.	52.0000	50.00000000	2,600.00
USA Services of Florida, LLC (No bid)	0.0000	0.00000000	0.00
Brightstar Property Maintenance Services, Inc	52.0000	70.0000000	3,640.00

## **Item: POWER SWEEP/VACUUM SVC-8014**

**Description:** Price for each service day for Parking Lot Space 1-50 Spaces

Unit of EA Quantity: 312.0000

	Quantity	Unit Price	Extended Amount
SFM Janitorial Services, LLC.	312.0000	25.00000000	7,800.00
USA Services of Florida, LLC (No bid)	0.0000	0.00000000	0.00
Brightstar Property Maintenance Services, Inc	312.0000	40.0000000	12,480.00

### Item: POWER SWEEP/VACUUM SVC-8014

Description: Price for each service day for Parking Lot Space 101-200 Spa

Unit of EA Quantity: 104.0000

Measure:

	Quantity	Unit Price	Extended Amount
SFM Janitorial Services, LLC.	104.0000	50.00000000	5,200.00
USA Services of Florida, LLC (No bid)	0.0000	0.00000000	0.00
Brightstar Property Maintenance Services, Inc	104.0000	45.00000000	4,680.00

## Item: POWER SWEEP/VACUUM SVC-8014

Description: Price for each service day for Parking Lot Space 400-500 Spa

Unit of EA Quantity: 104.0000

Measure:

	Quantity	Unit Price	Extended Amount
SFM Janitorial Services, LLC.	104.0000	100.00000000	10,400.00
USA Services of Florida, LLC (No bid)	0.0000	0.00000000	0.00
Brightstar Property Maintenance Services, Inc	104.0000	80.00000000	8,320.00

## **Item: POWER SWEEP/VACUUM SVC-8014**

**Description:** Price for each service day for Parking Lot Space 51 -100 Spa

Unit of EA Quantity: 312.0000

Measure:

June 23, 2023 Page 10

	Quantity	Unit Price	Extended Amount
SFM Janitorial Services, LLC.	312.0000	25.00000000	7,800.00
USA Services of Florida, LLC (No bid)	0.0000	0.0000000	0.00
Brightstar Property Maintenance Services, Inc	312.0000	45.00000000	14,040.00

# Item: POWER SWEEP/VACUUM SVC-8017

**Description:** Price for each service day for City Hall Garage 1st Fl 380 S

Unit of EA Quantity: 52.0000

	Quantity	Unit Price	Extended Amount
SFM Janitorial Services, LLC.	52.0000	50.0000000	2,600.00
USA Services of Florida, LLC (No bid)	0.0000	0.00000000	0.00
Brightstar Property Maintenance Services, Inc	52.0000	85.0000000	4,420.00